3.9 Fee Tables

3.9.1 - Section A: Fee Tables

Fee Type Name Preschool	Age Range 2y 8m	School Age / Early Years	ECCE Available?	Session Start Time	Session Finish Time	Incorporated Services?	Choose Incorporated Service	Additional Information	Hrs per Day	Days per Week	Hrs per Week	Full Fee	Fee (including ECCE - 3 Free	Effective From	Effective To
additional hour	- 5y	ELC	Yes	12:15	13:15	Yes	Meal	additional hours or part there off are charged at €4.00 per	1	5	5	€84.5	Hours) €20	21/08/2023	30/06/2024
Full day care Baby/Toddler Room	0y 6m - 3y	ELC	No	08:00	18:00	Yes	Meal	hour Full day care includes breakfast, mid morning snack, Dinner & 2 afternoon	10	5	50	€160	€160	28/08/2023	25/08/2024
Part time care Baby & Toddler Room	0y 6m - 3y 0y 6m		No	09:00	14:00	Yes	Meal	snacks Part time am can start at 9am or 9:15am until 2pm or 2:15pm, Mid morning break and dinner included	5	5	25	€80	€80	28/08/2023	25/08/2024
	- 3y	ELC	No	09:15	12:15	Yes	Meal		3	5	15	€60	€60	28/08/2023	25/08/2024

								morning snacks included							
Sessional PM Baby & Toddler Room	0y 6m - 3y	ELC	No	14:00	17:00	Yes	Meal	Afternoon sessional can start at 2pm, 2:15pm & 2.30Pm and run for 3 hours. Afternoon snack included	3	5	15	€60	€60	28/08/2023	25/08/2024
Sessional Afterschool 2:10 - 3:10	4y - 5y	ELC/SAC	Νο	14:10		Yes	Meal, Other	1children are collected from school, homework completed and a snack provided. Children are then brought to the bus if requested by parents.	1	5	5	€25	€25	28/08/2023	30/06/2024
Breakfast Club School Age	4y - 12y	SAC	No	08:00	09:30	Yes	Meal, Other	Breakfast included & children are walked to school.	1.5	5	7.5	€27.5	€27.5	28/08/2023	30/06/2024
Afterschool 1 hr 3:10 - 4:10	4y - 12y	SAC	Νο	15:10	16:10	Yes	Meal, Other	Dinner & homework included and children are picked up from school	1	5	5	€25	€25	28/08/2023	30/06/2024
Afterschool half session 15:10 - 17:20	4y - 12y	SAC	No	15:10	17:10	Yes	Meal, Other	Dinner & snack, homework completed. Picked up from school	2	5	10	€45	€45	28/08/2023	30/06/2024

Afterschool 2:10 - 5:45	4y - 12y	SAC	No	14:10	17:45	Yes	Meal, Other	Picked up	3.5	5	17.5	€60	€60	28/08/2023	30/06/2024
	129							from school. Dinner,							00/00/2024
							1	snack,	1					1	
								homework	1		1				1
Afterschool	4y -	SAC	No	15:10	17:45	Yes	Meal, Other	completed.				_			
3:10 - 5:45	12y				11.40	165	wear, Other	Pick up from	2.5	5	12.5	€55	€55	28/08/2023	30/06/2024
								school,					1		
			1					dinner &							
				1				snack,							
militar un u								homework							
School Age	4y -	SAC	No	09:00	17:00	Yes	Meal	completed	+	+		1			
out of term	12y					103	Medi	Full day care	8	5	40	€200	€200	28/08/2023	25/08/2024
full day care						+	1	during	1						
			1					school	1						1
						1		holidays is			1				
								€5.00 per			1				
		1						hour. Includes	1						1
								full meals						1	
						1		and							
Preschool	2y 8m	ELC	Yes					activities				1			
Full Day	- 5y	LLC	res	09:15	17:15	Yes	Meal	Mid	8	5	40	€155	€90.5	28/08/2023	30/06/2024
Care						1		morning	1	1					00/00/2024
					1			snack, dinner and	1						
		1					1	afternoon							
					1			tea							
Pre School	2y 8m	ELC	Yes	08:00	47.00			included							
including	- 5y		105	08:00	17:30	Yes	Meal	Breakfast,	9.5	5	47.5	€185	€120.5	28/08/2023	30/06/2024
breakfast		1						mid morning			1				
club and full								snack,							
day	1							dinner and							
								evening							
								snack							
Breakfast	2y 8m	ELC	Yes	08:00	09:15	Yes	Meal	included							
Club & Pre	- 5y		1	00.00	00.10	165	wear	Breakfast included	1.15	5	5.75	€89.5	€25	28/08/2023	30/06/2024
School								included							
Full day care outside of	2y 8m - 5y	ELC	Yes	12:15	14:15	Yes	Meal	Mid	2	5	10	€104.5	€40	28/08/2023	30/06/2024
ECCE school	- 59							morning				2104.0		20/00/2023	30/00/2024
term						1		snack &							
								dinner included	s						
Morning	2y 8m	ELC	No	09:15	12:15	Yes	Meal	3 hours	3	5	45	694.5			
session pre	- 5y							preschool	3	5	15	€64.5	€0	28/08/2023	30/06/2024
	L	L			L		1	9:15-12:15		1					

school non ECCE						8		for children 2 years & 8 months who are not in eligibility year for ECCE							
ECCE Sessional	2y 8m - 5y	ELC	Yes	09:15	12:15	Yes	Meal	ECCE free preschool hours to eligible children for 38 weeks	3	5	15	€64.5	€0	28/08/2023	30/06/2024
Preschool Full day care Non Term	2y 8m - 5y	ELC	No	09:00	17:00	Yes	Meal	Preschool age childcare during school holidays at rate of €4.00 per hour or €32 per 8 hr day	8	5	40	€160	€160	28/08/2023	25/08/2024
Holiday Camps non registered Children	3y - 12y	ELC/SAC	No	09:30	13:30	No		Halloween, Easter & Summer Camps offered to children who are not registered with the service. Children are required to bring a packed lunch.	4	5	20	€60	€60	28/08/2023	25/08/2024